
MATHS

BOOKS - MBD MATHS (ODIA ENGLISH)

MATRICES

Question Bank

1. State the order of [a b c] matrices.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_THo9RF00u8zG


2. State the order of  matrices.

Watch Video Solution

[
1

2
]

3. State the order of  matrices.

Watch Video Solution

⎡
⎢
⎣

x y

y z

z x

⎤
⎥
⎦

4. State the order of  matrices.

Watch Video Solution

⎡
⎢
⎣

1 0 1 4

2 1 3 0

−3 2 1 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Y3v8nlHFvLSr
https://dl.doubtnut.com/l/_fYOxTy73NZYR
https://dl.doubtnut.com/l/_CulKR1gSK6MQ
https://dl.doubtnut.com/l/_x2A1Cotv0wKt


5. How many entries are there in a  matrix

Watch Video Solution

3 × 3

6. How many entries are there in a  matrix

Watch Video Solution

3 × 4

7. How many entries are there in a  matrix

Watch Video Solution

p × q

https://dl.doubtnut.com/l/_x2A1Cotv0wKt
https://dl.doubtnut.com/l/_ckrp1lyOSGaL
https://dl.doubtnut.com/l/_YwuiWmNS9Me2


8. How many entries are there in a sqare matrix of

order p?

Watch Video Solution

9. Give an example of matrix

Watch Video Solution

3 × 1

10. Give an example of matrix

Watch Video Solution

2 × 2

https://dl.doubtnut.com/l/_8K2reAsZwhq0
https://dl.doubtnut.com/l/_Z7QRb4bNx1ps
https://dl.doubtnut.com/l/_awQ9Dvzu8Fdh
https://dl.doubtnut.com/l/_PnflMzhbxHoN


11. Give an example of matrix

Watch Video Solution

4 × 2

12. Give an example of matrix

Watch Video Solution

1 × 3

13. Let What is the order of A?

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3 4 1

4 5 6 1 2

3 9 1 1 6

⎤
⎥
⎦

https://dl.doubtnut.com/l/_PnflMzhbxHoN
https://dl.doubtnut.com/l/_GKFV0jcbCDWz
https://dl.doubtnut.com/l/_QcxEfbGqkXsP


14. Let Write down the entries 

 ?

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3 4 1

4 5 6 1 2

3 9 1 1 6

⎤
⎥
⎦

a31, a25, a23

15. Let Write down .

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3 4 1

4 5 6 1 2

3 9 1 1 6

⎤
⎥
⎦

AT

16. Let What is the order of 

?

A =
⎡
⎢
⎣

1 2 3 4 1

4 5 6 1 2

3 9 1 1 6

⎤
⎥
⎦

At

https://dl.doubtnut.com/l/_VWdxQmP8pzgL
https://dl.doubtnut.com/l/_STjCNpdlbApG
https://dl.doubtnut.com/l/_ooKEwsAICA5q


Watch Video Solution

17. Matrices A and B are given below .Find A+B,B+A,A-

BandB -A Verify that 

A+B=B+A and B-A=-(A-B). 

Watch Video Solution

A = [
7

1
]B = [

−6

9
]

18. Matrices A and B are given below .Find A+B,B+A,A-

BandB -A Verify that 

A+B=B+A and B-A=-(A-B). 

A = [
1 a − b

a + b −3
] and B = [

1 b

−a 5
]

https://dl.doubtnut.com/l/_ooKEwsAICA5q
https://dl.doubtnut.com/l/_pvVSC2d40Odu
https://dl.doubtnut.com/l/_m4mqp7PoKqsw


Watch Video Solution

19. Find the X+[[0,1], [1,0]]=[[2,0],

[0,2]]`

Watch Video Solution

2 × 2mtrixX if

20. Find the X Given [x y z ]-[-4 3 1] =[-5 1 0]`


derermine x,y,z.

Watch Video Solution

2 × 2mtrix

https://dl.doubtnut.com/l/_m4mqp7PoKqsw
https://dl.doubtnut.com/l/_r6mEXmhOr484
https://dl.doubtnut.com/l/_5ZWMkmpdT98T


21. Find the [[x_1,x_2], [y_1,y_2]]-

[[2,0],[0,2]]=[[3,5],[1,2]] x_1,x_2,y_1,y_2`.

Watch Video Solution

2 × 2mtrixX if

det er min e

22. Find the  mtrix X find a matrix which when

added to 

Watch Video Solution

2 × 2

[
2 −3

−4 7
]gives[

4 1

3 2
]

23. Calculate whenever possible, 

Watch Video Solution

[
1 2

3 4
], [

2

3
]

https://dl.doubtnut.com/l/_kd17iR8gbTFB
https://dl.doubtnut.com/l/_cwo3Y2ep8b9H
https://dl.doubtnut.com/l/_XStwloytHjXo


24. Calculate whenever possible,

Watch Video Solution

[
2

3
][

1 2

4 3
]

25. Calculate whenever possible,

Watch Video Solution

[
1 2

2 1
][

3 1

1 1
]

26. Calculate whenever possible,

Watch Video Solution

[
1 −2

−2 3
][

1 2 3

2 3 4
]

https://dl.doubtnut.com/l/_Qc47OTEXapPf
https://dl.doubtnut.com/l/_hn2SFDLYUX2N
https://dl.doubtnut.com/l/_yaGIPOpZPJaY
https://dl.doubtnut.com/l/_MlwnfKXFRG4Z


27. If A=

Calculate AB.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

28. If A=

Calculate BA.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

29. If A=

Calculate BC.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

https://dl.doubtnut.com/l/_MlwnfKXFRG4Z
https://dl.doubtnut.com/l/_rJ9o67wEnk2U
https://dl.doubtnut.com/l/_Hul6Vwwgkv1m


30. If A=

Calculate CB.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

31. If A=

Calculate AC.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

https://dl.doubtnut.com/l/_Hul6Vwwgkv1m
https://dl.doubtnut.com/l/_EWrCNx8V24l4
https://dl.doubtnut.com/l/_l34nIOCNWi2w


32. If A=

Calculate CA.

Watch Video Solution

[
1 2

−2 3
]B = [

3 2

1 4
], C = [

2 2

1 3
]

33. Find product: 

Watch Video Solution

[
1 2

3 4
][

1 0

0 1
]

34. Find products : 

Watch Video Solution

[
1 0

0 1
][

1 2

3 4
]

https://dl.doubtnut.com/l/_vWReLxnYDL6N
https://dl.doubtnut.com/l/_Js3b9FBIDpC5
https://dl.doubtnut.com/l/_F5eGSUI8Kcze
https://dl.doubtnut.com/l/_3UKIdxvjb5Tl


35. Find products : 

Watch Video Solution

[
1 2

3 4
][

1 3

1 4
]

36. Find products : 

Watch Video Solution

[
1 3

1 4
][

1 2

3 4
]

37. Find products : 

Watch Video Solution

[
1 i

i −1
]

2

whereI = √−1

https://dl.doubtnut.com/l/_3UKIdxvjb5Tl
https://dl.doubtnut.com/l/_xgZyXWTGpusT
https://dl.doubtnut.com/l/_gLNf1foeabxO


38. Find products : 

Watch Video Solution

[
0 1

1 0
][

a b

c d
]

39. Find products : 

Watch Video Solution

[
0 k

1 0
][

a b

c d
]

40. Find products : 

Watch Video Solution

[
a b

c d
][

0 1

1 0
]

https://dl.doubtnut.com/l/_OPTqeuEvlQn0
https://dl.doubtnut.com/l/_ORBMXeaFJTo7
https://dl.doubtnut.com/l/_hTuZtphJ87wa


41. Find products : 

Watch Video Solution

[
1 0

0 k
][

a b

c d
]

42. Find products : 

Watch Video Solution

⎡
⎢
⎣

1 2 3

4 5 6

7 8 9

⎤
⎥
⎦

⎡
⎢
⎣

0 0 0

0 0 0

0 0 0

⎤
⎥
⎦

43. Write true or false in the following case:

The sum of a  matrix with a  matrix is a 

 matrix.

Watch Video Solution

3 × 4 3 × 4

3 × 3

https://dl.doubtnut.com/l/_Ge5r0FtTHjfc
https://dl.doubtnut.com/l/_uSIAYTavSjPz
https://dl.doubtnut.com/l/_hVpWKi5UkhS6


44. Write true or false in the following case:

.

Watch Video Solution

k[0] = 0, k ∈ R

45. Write true or false in the following case:

A-B = B -A if one of A and B is zero and A and B are of

the same order.

Watch Video Solution

https://dl.doubtnut.com/l/_hVpWKi5UkhS6
https://dl.doubtnut.com/l/_xqGbV3CMQgEu
https://dl.doubtnut.com/l/_1I8vbqUyF1S0


46. Write true or false in the following case:

 if A and B are matrices of the same

order.

Watch Video Solution

A + B = B + A,

47. Write true or false in the following case:

Watch Video Solution

[
1 0

−2 0
] = 0

48. Write true or false in the following case:

[
3 1

6 2
] = 3[

1 1

2 2
]

https://dl.doubtnut.com/l/_reT9eFt8O7n3
https://dl.doubtnut.com/l/_2jIbTjnYQuY2
https://dl.doubtnut.com/l/_X3quojzztPPd


Watch Video Solution

49. Write true or false in the following case:

With five elements a matrix can not be constructed.

Watch Video Solution

50. Write true or false in the following case:

The unit matrix is its own transpose.

Watch Video Solution

https://dl.doubtnut.com/l/_X3quojzztPPd
https://dl.doubtnut.com/l/_Al43KPEnDojK
https://dl.doubtnut.com/l/_CbxmarTDhkwQ


51. If

Watch Video Solution

A = [
2 4

3 13
]and I = [

1 0

0 1
]findA − αI, α ∈ R.

52. Find x and y :

Watch Video Solution

[
x −2y

0 −2
] = [

1 −8

0 −2
]

53. Find x and y :

W t h Vid S l ti

[
x + 3

2 − y
] = [

1

−3
]

https://dl.doubtnut.com/l/_uYeXR5usgxWo
https://dl.doubtnut.com/l/_zMzEcjAl32g1
https://dl.doubtnut.com/l/_2PyCS6e3685i


Watch Video Solution

54. Find x and y :

Watch Video Solution

[
2x − y

x + y
] = [

3

−9
]

55. Find x and y :

Watch Video Solution

[
x

y
] + [

3

4
] = [

2

−1
]

https://dl.doubtnut.com/l/_2PyCS6e3685i
https://dl.doubtnut.com/l/_fCWsP5e525XD
https://dl.doubtnut.com/l/_YxkG0jwMlNfZ


56. Find x and y :

Watch Video Solution

[ 2x −y ] + [ y 3x ] = 5[ 1 0 ]

57. The element of ith row and jth column of the

following matrix is  Complete the matrix.


Watch Video Solution

I + j.

⎡
⎢⎢⎢⎢⎢⎢
⎣

2 3 4 5

3 4 5 −

4 5 − −

5 − − −

− − − −

⎤
⎥
⎥
⎥
⎥
⎥
⎥
⎦

https://dl.doubtnut.com/l/_nCStNS5dyNlW
https://dl.doubtnut.com/l/_AwMZdmM20iSX


58. Write down the matrix 

Watch Video Solution

[
a11 a12 a13

a21 a22 a23
]ifaij = 2i + 3j

59. Construct a  matrix having element:


Watch Video Solution

2 × 3

aij = i + j

60. Construct a  matrix having element:


Watch Video Solution

2 × 3

aij = i − j

https://dl.doubtnut.com/l/_2j8mFIuZHsWy
https://dl.doubtnut.com/l/_62jS75OqgUYm
https://dl.doubtnut.com/l/_U7yA8JkF3jmg


61. Construct a  matrix having element:


Watch Video Solution

2 × 3

aij = i × j

62. Construct a  matrix having element:


Watch Video Solution

2 × 3

aji =
i

j

https://dl.doubtnut.com/l/_U7yA8JkF3jmg
https://dl.doubtnut.com/l/_d8GQa1DJKocq
https://dl.doubtnut.com/l/_Ofcim8f7xAxo


63. If Find x and

y.

Watch Video Solution

[
2x y

1 3
] + [

4 2

0 −1
] = [[8, 3], 1, 2]]

64. Find A such that

Watch Video Solution

⎡
⎢
⎣

2 3 4

1 0 −2

3 1 −1

⎤
⎥
⎦

+ A =
⎡
⎢
⎣

1 2 −1

2 −1 0

1 3 2

⎤
⎥
⎦

65. If 


find the values of x,y,z.

[
x + y x − z

2x − y 0
] = [

2 2

1 0
]

https://dl.doubtnut.com/l/_chsnZY8MjjZ8
https://dl.doubtnut.com/l/_4jDb4M7sZC0d
https://dl.doubtnut.com/l/_rFMmM34nc2Dg


Watch Video Solution

66. What is the order of the matrix B if

Watch Video Solution

[  3  4  2 ] B =[ 2  1  0  3  6]

67. Find A if 

Watch Video Solution

⎡
⎢
⎣

4

1

3

⎤
⎥
⎦
A =

⎡
⎢
⎣

−4 8 4

−1 2 1

−3 6 3

⎤
⎥
⎦

68. Find x and y when[
1 3

2 −8
][

x

y
] = [

4

1
]

https://dl.doubtnut.com/l/_rFMmM34nc2Dg
https://dl.doubtnut.com/l/_6qxXqCMKXcLf
https://dl.doubtnut.com/l/_WIMsWMJXCrle
https://dl.doubtnut.com/l/_pNb0KXeQjcHf


Watch Video Solution

69. Find AB and BA given that:

Watch Video Solution

A = [
0 1

1 0
], B = [

2 3

4 1
]

70. Find AB and BA given that:

Watch Video Solution

A = [
7 5

6 4
], B = [

1 0

0 1
]

https://dl.doubtnut.com/l/_pNb0KXeQjcHf
https://dl.doubtnut.com/l/_TgbGDEqhEU5P
https://dl.doubtnut.com/l/_4TdhXANdgnrx


71. Find AB and BA given that:

Watch Video Solution

A = [
1 −1

2 3
], B = [

4 2

−1 −2
]

72. Find AB and BA given that:

Watch Video Solution

A = [
1 2

2 5
], B = [

5 −2

−2 1
]

73. Evaluate

Watch Video Solution

[[2, 1] + 2[0, − 2]][
2 1 3

1 −2 0
]

https://dl.doubtnut.com/l/_u6Iy3Mht8WLx
https://dl.doubtnut.com/l/_yeqwhym1yPTs
https://dl.doubtnut.com/l/_PpxfT4nwLZXl


74. Evaluate 

Watch Video Solution

[[
1 2

3 0
] + [

1 −2

2 3
]][

2

1
]

75. If A

Show that AB=AC 

though .Verify that: A+(B+C)=(A+B)+C

Watch Video Solution

⎡
⎢
⎣

1 2 0

1 1 0

−1 4 0

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 2 3

1 1 −1

1 1 1

⎤
⎥
⎦

andC =
⎡
⎢
⎣

1 2 3

1 1 −1

2 2 2

⎤
⎥
⎦

B ≠ C

https://dl.doubtnut.com/l/_PpxfT4nwLZXl
https://dl.doubtnut.com/l/_0AXfOQudRb6n
https://dl.doubtnut.com/l/_9SoG6sDCqqwR


76. If A

Show that AB=AC 

though B '!=C`.Verify that: A(B+C)=AB+AC

Watch Video Solution

⎡
⎢
⎣

1 2 0

1 1 0

−1 4 0

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 2 3

1 1 −1

1 1 1

⎤
⎥
⎦

andC =
⎡
⎢
⎣

1 2 3

1 1 −1

2 2 2

⎤
⎥
⎦

77. If A

Show that AB=AC 

though .Verify that: A(BC) =(AB)C

Watch Video Solution

⎡
⎢
⎣

1 2 0

1 1 0

−1 4 0

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 2 3

1 1 −1

1 1 1

⎤
⎥
⎦

andC =
⎡
⎢
⎣

1 2 3

1 1 −1

2 2 2

⎤
⎥
⎦

B ≠ C

https://dl.doubtnut.com/l/_2VKGBokHGDqc
https://dl.doubtnut.com/l/_lMFQvm6w8os8


78. Find A and B where 

2A+B=

Watch Video Solution

⎡
⎢
⎣

2 2 5

5 4 3

1 1 4

⎤
⎥
⎦

andA − 2B =
⎡
⎢
⎣

1 6 5

5 2 −1

−2 −2 2

⎤
⎥
⎦

79. If A=  


and I be the  unit matrix find (A-2I)(A-3I)

Watch Video Solution

[
4 2

−1 1
]

2 × 2

https://dl.doubtnut.com/l/_lMFQvm6w8os8
https://dl.doubtnut.com/l/_DNPHseFzdPJv
https://dl.doubtnut.com/l/_GiJDvMyYSo2l


80. Verify that  where

Watch Video Solution

[AB]T = BTAT

A = [
1 2 3

3 −2 1
], B =

⎡
⎢
⎣

1 2

2 0

−1 1

⎤
⎥
⎦

81. Verify that  where

Watch Video Solution

[AB]T = BTAT

A =
⎡
⎢
⎣

1 2

2 3

3 4

⎤
⎥
⎦

= [
2 3 0

1 2 3
]

https://dl.doubtnut.com/l/_Bul93raeHMyZ
https://dl.doubtnut.com/l/_IWqPPriROJkf


82. Verify that 


satisfies the equation

 where  is the x

unit matrix.

Watch Video Solution

A = [
a b

c d
]

A2 − (a + d)A + (ad − bc)I = 0 I 2 2

83. If "show that"

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

3 −2 1

4 2 1

⎤
⎥
⎦

A3 − 23A − 40I = 0

https://dl.doubtnut.com/l/_U4YBcB0v9JD0
https://dl.doubtnut.com/l/_AvJKOVTGv0DL


84. Simplify:

Watch Video Solution

[x y z] ×
⎡
⎢
⎣

a h g

h b f

g f c

⎤
⎥
⎦

×
⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

85. If A and B are matrices of the same order and

AB=BA, Then prove that 

Watch Video Solution

A2 − B2 = (A − B)(A + B)

86. If A and B are matrices of the same order and

AB=BA, Then prove thatA2 + 2AB + B2 = (A + B)
2

https://dl.doubtnut.com/l/_M8YW5qYKBSuf
https://dl.doubtnut.com/l/_WeBnrqe5LSm9
https://dl.doubtnut.com/l/_F5g1luQsypUO


Watch Video Solution

87. If A and B are matrices of the same order and

AB=BA, Then prove that

Watch Video Solution

A2 − 2AB + B2 = (A − B)
2

88. If  are scalars and A is a square matrix

then prove that 

where I is a unit matrix of same order as A.

Watch Video Solution

α and β

(A − αI). (A − βI) = A2 − (α + β)A + αβI

https://dl.doubtnut.com/l/_F5g1luQsypUO
https://dl.doubtnut.com/l/_YRWjv6gKOZgp
https://dl.doubtnut.com/l/_Pp4hTCi2LeBJ


89. If , are scalars such that ,

where A,B and the unit matrix I are of the same order,

then prove that AB=BA.

Watch Video Solution

αandβ A = αB + βI

90. If Show that 

Watch Video Solution

A =
⎡
⎢
⎣

−1 3 5

1 −3 −5

−1 3 5

⎤
⎥
⎦

A2 = A.

https://dl.doubtnut.com/l/_Pp4hTCi2LeBJ
https://dl.doubtnut.com/l/_C9OVhgC7omlU
https://dl.doubtnut.com/l/_VDh7gOkPpoG0


91. If 





Watch Video Solution

A = [
0 2 3

2 1 4
]

andB = [
7 6 3

1 4 5
]

find 2A + 3B, 2A − 3B.

92. If 





Watch Video Solution

A = [
1 0 −2

2 3 −1
],

B = [
4 −1 3

0 2 1
]andC = [

2 −3 0

1 4 5
]

find A − 3B + 3C

https://dl.doubtnut.com/l/_VYPmTfMZZGJa
https://dl.doubtnut.com/l/_J5Q9ERQUVt2u


93. If 





Watch Video Solution

A = [
1 0 −2

2 3 −1
],

B = [
4 −1 3

0 2 1
]andC = [

2 −3 0

1 4 5
]

find (A + B − C)T

94. If 

.

Watch Video Solution

A = [
1 0 −2

2 3 −1
],

B = [
4 −1 3

0 2 1
]andC = [

2 −3 0

1 4 5
]

find BT − CT

https://dl.doubtnut.com/l/_FFIvXrMy7eQn
https://dl.doubtnut.com/l/_ov0VSjwtALEH


95. If 


,verify (A+B)C=AC+BC

Watch Video Solution

A = [
2 1

−1 3
], B = [

2 3

1 1
]

andC = [
1 0 2

−2 3 0
]

96. Find x and y.

Watch Video Solution

[
1 −2

3 2
][

x 2

1 y
] = [

−3 4

−1 4
]

97. If 





A = [
1 −2 2

3 1 −1
]

B
⎡
⎢
⎣

2 4

1 2

3 −1

⎤
⎥
⎦

verify

that(AB)T = BTAT .

https://dl.doubtnut.com/l/_zWT8CY6noovB
https://dl.doubtnut.com/l/_9IUxo9VpyneG
https://dl.doubtnut.com/l/_crPN4gS7fBW3


Watch Video Solution

98. If A,B,C are matrices of order  each and 







find A,B and C.

Watch Video Solution

2 × 2

2A + B + C = [
1 2

3 0
]

A + B + C = [
0 1

2 1
]

A + B − C = [
1 2

1 0
]

99. If 


find x,y,z and t.

Watch Video Solution

[
x y

x + t
] + [

y x + t

x + 2
] = [

1 4

2 3
]x

2
x

2

https://dl.doubtnut.com/l/_crPN4gS7fBW3
https://dl.doubtnut.com/l/_UdWvqijyzC6M
https://dl.doubtnut.com/l/_Tqms4dW3JpKu


100. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

[
0 1

1 0
]

101. State which of the following matrices is

symmetric,slew symmetric, both or not either:

,(x,y,z) != (0,0,0)

Watch Video Solution

⎡
⎢
⎣

0 1 2

−1 y 3

−2 −3 z

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Tqms4dW3JpKu
https://dl.doubtnut.com/l/_MYIK0shBnG1s
https://dl.doubtnut.com/l/_eqrF9atLBPgS
https://dl.doubtnut.com/l/_UtEKvpY7Ozh7


102. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

⎡
⎢
⎣

1 0 3

0 −1 2

3 2 1

⎤
⎥
⎦

103. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

⎡
⎢
⎣

0 1 2

−1 0 3

−2 −3 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_UtEKvpY7Ozh7
https://dl.doubtnut.com/l/_CnKfOqW76sn6


104. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

⎡
⎢
⎣

0 0 0

0 0 0

0 0 0

⎤
⎥
⎦

105. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

⎡
⎢
⎣

1 −1 2

1 1 −3

−2 3 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_BxVvEMp8NoOx
https://dl.doubtnut.com/l/_Gd2N0R7mQ7gp
https://dl.doubtnut.com/l/_twMq8Hje0w58


106. State which of the following matrices is

symmetric,slew symmetric, both or not either:

Watch Video Solution

⎡
⎢
⎣

0 0 1

0 0 −2

−1 2 0

⎤
⎥
⎦

107. State'True'or'false':If A and B are symmetric

matrices of the same order and , then

AB is not symmetric

Watch Video Solution

AB − BA ≠ 0

https://dl.doubtnut.com/l/_twMq8Hje0w58
https://dl.doubtnut.com/l/_hgWR6TEsTCs0


108. State'True'or'false':For any square matrix A, AA' is

symmetric.

Watch Video Solution

109. State'True'or'false':If A is any skew symmetric

matrix, then  is also skew symmetric.

Watch Video Solution

A2

110. State'True'or'false': If A is symmetric, then

 are all symmetric.

Watch Video Solution

A2, A3, …. . , An

https://dl.doubtnut.com/l/_CHRV7SuRqMVO
https://dl.doubtnut.com/l/_ngD0FLynBGHX
https://dl.doubtnut.com/l/_ohnwzrEj9qx7


111. State'True'or'false':If A is symmetric then 

is both symmetric and skew symmetric.

Watch Video Solution

A − A1

112. State'True'or'false':For any square matrix

 is skew symmetric.

Watch Video Solution

(A − A1)
2

113. State'True'or'false': A matrix which is not

symmetric is skew symmetric.

https://dl.doubtnut.com/l/_ohnwzrEj9qx7
https://dl.doubtnut.com/l/_6tFgIRXOXXlI
https://dl.doubtnut.com/l/_cL4tuI7mRkir
https://dl.doubtnut.com/l/_Tt7JB4OHRp9m


Watch Video Solution

114. If A and B are symmetric matrices of the same

order with  final whether AB-BA is

symmetric or skew symmetric.

Watch Video Solution

AB ≠ BA,

115. A and B are square matrices of the same order,

prove that : if A,B and AB are all symmetric, then AB-BA

=0

Watch Video Solution

https://dl.doubtnut.com/l/_Tt7JB4OHRp9m
https://dl.doubtnut.com/l/_VbwCwxr4wyVU
https://dl.doubtnut.com/l/_d2roLvkRJJAX
https://dl.doubtnut.com/l/_EWQXFmpY6WfZ


116. A and B are square matrices of the same order,

prove that :If A,B and AB are all skew symmetric then

AB+BA=0

Watch Video Solution

117. If A= 








A+A' is symmetric

Watch Video Solution

⎡
⎢
⎣

1 2 0

0 1 3

−2 5 3

⎤
⎥
⎦

, then verify that

A =
⎡
⎢
⎣

1 2 0

0 1 3

−2 5 3

⎤
⎥
⎦

⇒ A' =
⎡
⎢
⎣

1 0 −2

2 1 5

0 3 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_EWQXFmpY6WfZ
https://dl.doubtnut.com/l/_s5PIy60zhoiF


118. If A= 








A+A' is skmmetric

Watch Video Solution

⎡
⎢
⎣

1 2 0

0 1 3

−2 5 3

⎤
⎥
⎦

, then verify that

A =
⎡
⎢
⎣

1 2 0

0 1 3

−2 5 3

⎤
⎥
⎦

⇒ A' =
⎡
⎢
⎣

1 0 −2

2 1 5

0 3 3

⎤
⎥
⎦

119. Prove that A unit matrix is its own inverse. Is the

converse true?If show that

and hence .

A =
⎡
⎢
⎣

0 1 −1

4 −3 4

3 −3 4

⎤
⎥
⎦

A2 = I A = A− 1

https://dl.doubtnut.com/l/_s5PIy60zhoiF
https://dl.doubtnut.com/l/_QvhmgA36msl1
https://dl.doubtnut.com/l/_UGgwYABSItvo


View Text Solution

120. Show that  is its own inverse.

Watch Video Solution

[
0 1

1 0
]

121. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

⎡
⎢
⎣

1 2 3

4 0 1

−1 5 −2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_UGgwYABSItvo
https://dl.doubtnut.com/l/_3VjRRfIvYT2l
https://dl.doubtnut.com/l/_CaZfZkbmD6sx


122. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

⎡
⎢
⎣

2 −1 3

5 7 −2

1 4 6

⎤
⎥
⎦

123. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

⎡
⎢
⎣

x a b

a y c

b c z

⎤
⎥
⎦

https://dl.doubtnut.com/l/_HllSwOy7m392
https://dl.doubtnut.com/l/_183WSgNSUXHx
https://dl.doubtnut.com/l/_IrTWQmQLYCx0


124. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

[
0 x

−x 0
]

125. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

[
1 5

7 −3
]

https://dl.doubtnut.com/l/_IrTWQmQLYCx0
https://dl.doubtnut.com/l/_6sFiaJNVC1ug


126. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

[
4 −3

1 2
]

127. Express as a sum of a symmetric and a skew

symmetric matrix:

Watch Video Solution

[
0 1

1 0
]

https://dl.doubtnut.com/l/_XdA6lBgeFag3
https://dl.doubtnut.com/l/_ecjZbaxNCShg


128. What is the inverse of :

Watch Video Solution

[
1 0

0 1
]

129. What is the inverse of :

Watch Video Solution

⎡
⎢
⎣

1 0 0

0 1 0

0 0 1

⎤
⎥
⎦

130. Find inverse of the following matrices by

elementary row/column operation (transformations):

https://dl.doubtnut.com/l/_WxyjCp9OEDzb
https://dl.doubtnut.com/l/_rBYbJbaaKeBL
https://dl.doubtnut.com/l/_aYjBZb6NTmm6


Watch Video Solution

[
1 2

3 5
]

131. Find inverse of the following matrices by

elementary row/column operation (transformations):

Watch Video Solution

[
2 5

1 3
]

132. Find inverse of the following matrices by

elementary row/column operation (transformations):

[
4 −2

3 1
]

https://dl.doubtnut.com/l/_aYjBZb6NTmm6
https://dl.doubtnut.com/l/_0wHwVaINzK0h
https://dl.doubtnut.com/l/_X6wdpuJSpIpP


Watch Video Solution

133. Find inverse of the following matrices by

elementary row/column operation (transformations):

Watch Video Solution

[
2 5

1 3
]

134. Find inverse of the following matrices by

elementary row/column operation (transformations):

Watch Video Solution

[
1 0

2 −3
]

https://dl.doubtnut.com/l/_X6wdpuJSpIpP
https://dl.doubtnut.com/l/_0nsMIJadpO1N
https://dl.doubtnut.com/l/_GTbST81Gewln
https://dl.doubtnut.com/l/_lOw2OJkh1FAZ


135. Find inverse of the following matrices by

elementary row/column operation (transformations):

Watch Video Solution

[
1 0

0 −1
]

136. Find the inverse of the following matrices using

elementary transformation 

Watch Video Solution

⎡
⎢
⎣

0 0 2

0 2 0

2 0 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_lOw2OJkh1FAZ
https://dl.doubtnut.com/l/_3JsXTb0WnDAp


137. Find the inverse of the following matrices using

elementary transformation 

Watch Video Solution

⎡
⎢
⎣

0 1 2

1 2 3

3 1 1

⎤
⎥
⎦

138. Find the inverse of the following matrices using

elementary transformation:

Watch Video Solution

⎡
⎢
⎣

1 1 2

0 1 2

1 2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_6uMeUbOZBhl2
https://dl.doubtnut.com/l/_WvhmUyx9a1Uk
https://dl.doubtnut.com/l/_WBBJEy8xtDJx


139. Find the inverse of the following matrices using

elementary transformation:

Watch Video Solution

⎡
⎢
⎣

1 2 3

2 1 4

1 0 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_WBBJEy8xtDJx

